A1 : Main Reflecior
{1ea)

AS : Back Mount Till
{1ea)

{oea)

———

B5 : M5x15
(Zea)

} g

fll B11: ME NUT
{18ea)

Bi6 - M10
WASHER (6ea)

A8 : Holder Supporter

A2 : Sub Reflector
{1ea)

{1ea)

A10 : LNBf Ku Band

A11 : LNBI Ku Band

A3 - Support Arm

[2ea)
i )
{7
Y

(1ea)

AT : Weaving Tube

Al

A12 : Suppaort Arm Cap
(dea)

Holder (Sea) Adapter (5ea)
= =
f F "J ’ !--H;c: o B, =
W 25 W\ “ B
! \ NPy ="
bME I
x.;_-.r_ i i
hn’ -‘L_
A15 . M16 T-Boll B1:MBx12 BZ : M6x35 B3 : MB6x35
(1ea) (Bea) {dea) (d4ea)
®; r,
‘n\_:_} Al
BG . M5x15 B7 : MBx15 B8 : MBxi5 BS : M10x140
{15ea) {1ea) {Bea) [2ea)
% 1’%, .
\ Z | N
A
B12: MB NUT B13: M10 NUT B14 . M6 NUT B15
(Tea) (dea) (2ea)

B19 : MBx12 (2ea)

B17: M6 B18 : M6x25 (2ea)

WASHER (2ea)
7 e,

S %} % ol

C
\

Page2o0f 8

LNBF Guide
{1ea)

AB : LNBI Guida Seal

(2ea)

B4 | MEx37
(Zea)

EE“-»
e

B10: M10x20
(dea)

Far
i h
Gr)

M-

M10 SPRING
WASHER
(dea)

]

Assembly Diagram

Page 3 of 8



o=
o
=
C
O
o
—
>
=
=
=
=
o
=

\

£

~z
s~

line-of- sight to the satellites, you will need

I Decide where to mount the TOROIDAL 90,
the azimuth and elevation angles.

2. In order to determine if you have a clear

60"
=
AZIMUTH

TE THAN

ELEVATION

Main-reflector directly, then reflected again on

the sub-reflector.

w
=
-
=
2
[}
i
iz
el
=]
-
=
o= ]
o
o
[==)
=
=
=
=Ti)
i
=
o)
e
{=1]
«T

Finally the signal reaches the LNB.

satellite, you install the LNBf on the left side of

2. To receive the signal from the right upper
the TOROIDAL 90.

Page 5 of §

o — —
[
| |
1
[
_ I = ! "L #8ed wn g dng ur parensagp se
| KT} U 1 Op 03 Pagu [[1s noL “YsIp njnw jo amien o) (] "PAOGE WEYD M SIS SIHLUINT PIRNInSS o Sa[3ue Moy )
| 25 —— = © = T
[ [ (BT i T o=
- L —ym —— — —d i .|.... a1 |3 |.| L) || Im £ X —
_ | | [losi 8 1 N T T I ] 0z 097 Bumes o, |
| L N LT I S T A
| = ) . 9|dUIEXs PaIRNSHIT 3 U0 patonod o
| | PN 40U 0N (UOnRLO]uY 210w 05 ¢ aTed o) 1aj0%) 3PS o) o SIENT __p_ Ea__ﬂa e T wwnmﬂ_ﬂ,mmﬁ )
_ (PwozuoH)06 + 5L =G0k i, [ 5a1 T o——— T e |
| ot | & ] e
7 T L2 YT 042 | Bupsginoy |
7 _ o | inwezy MmaNS | uomena;g | ~elbuy |
| | TP SOT+ 51 ABUE MINS 2jdumexa 34 U0 31qe) o wos 913UE M2XYS AINSTAL ‘BIIAIP UAWA] _._m_._..nl,u._.m_“:..lﬁﬂi C
_ _ Mojaq papraoad ajqe g o sa)Fue UONEAD[7P NIz JnoA prodsal H[E2E 271 wo jod ogag My wony 4
. : (=qd
_ _ _ _ AM[es-rauad nog s A[ED5 M w0 Junod 0 Woxy ajeyes 1samman S, AT 0L uE,Emu_._m__“..__Mw..._m__Mﬂ:&c%ﬂ.ﬂmﬁﬂﬂyﬂ
| | : WIL gy o1 apd[exe g uo UMOUS SB 3je3% am o gale JJO-102 2] yin ; :
_ _ _ _ NOA SANFIIILS U ‘LR M) Uo 20T AMI3IES Jano aqeas .n_s_n_“_ u.n_“_huouﬁ .%_ﬁ :2_.5_.__.___..,,“___..__*_ uﬂh:wuwh”_nwﬂﬁ;:u%huwm—ﬁ. Mu.m“ﬂwu_..__%“u_ U
| | | | st sued 295) apmd ygpy atfy 6o parutdin JwatEsnsra 1 102 811 “Spa - ; RS T
_ _ | LT == _ _ L — e s aded sup 1w g0 “auiy paniop a1 Fuow H_u_,_._ﬂ_w_uwﬂz.u__wﬂwﬂh_...u ﬂ_mwuwmn_“_ﬂ.dcm“ﬂuw?wum oy wawanstow sy |
_ <<g|dwexgss O R bt s A HE papy =35 Jaded s ng Ny
—= " i T 3 e s s M el m_.w.__ﬁ:m I SNEnSHI LR asoqe ayp |
<<UjnLury S e ks
55z e Cor T (494 z 2z QrE DEE S0E oo 3L 08 g8 oo 1 i1 [T a4
E -
& M -
P m M
W 2 m Ao m & W p
£ 815 B ol Z : 55818 %
h =& g = o m m m B E W i
£ = m [ ) m o o = e T
o x = ke = Lok = _..m.u = ﬂu (=] m
(5] E=-1 ' .\0-' = | F3 - T e,
°q3 R E 3§ £z 2alRPETE SEEd LR
I+! s flelto—hoal il |53 | e
oo B TS YL Iy P =
® e D o] 9 e B =
L _ | _ _ -y /
L e S| R o |
1 | T o S R S O U = = 1ol 2 i e Y .._LII._._In.LI___.._L [ ..eh.[l.|-|.|.l|.lll|mi| — : |
. pet f O @& | Wih Mg sayes smeay
6L/ Bl oy gounty 3 e ‘voqee) pu o] | i G el
\“ T TR @ T T T T g T T T TT R g6 o ~ | PO KU ay) o 3095 34119 In) | O
> | | [ v i | = | 1 - : |[-|.|.J|rIJ|.uV..r A F
L —— & &l B 321 ‘Nog) MuVINNIQ

uabeyuado)

=<Elevation

Page 4 of §



Aiming TOROIDAL 90 for satellites

Step 1. LNBf and LNBf Holder Installation
I. See LNBf position data on page 4, align

on the holder supporter, and then
tighten those 2 pieces.

LNBf Holder
Line ~ -,

b

Fix the upper assembled LNBf body on guide
(See LNBf position data on page 4)

Step 2. Elevation Angle setting

e

L s I. Insatll the pole mount vertically at exact right
ANGLE SCALE™
\ angles to the ground.

This step is very important.

2. Adjust the elevation angle (See elevation angle
data on page 4) then, tighten the elevation nut.

(If pole mount is not precisely vertical,
none of the adjustments will work properly)

3. When the pole mount's not been installed

| back mount, and try Step 2-2 again.

Page 6 of 8

Step 3. Skew angle setting

=

LNBf Holder Line with the corresponding scale =
s s

b3

vertically at right angles, put an angle scale on the

L. Adjust the skew angle (See skew data on Page 4),

then tighten the skew nut.

- See azimuth data on page 4. Turn the dish

horizontally until your receiver shows the greatest
signal strenght for the satellite corresponding to
the center-installed LNBT and then tighten the
dish.

Now you have a strong signal for the center-
mstalled satellite, adjust other LNBfs to get the
greastest signal strength.

. Even after Step 4-1 & 4-2, you are satisfied with

signal strength, please adjust the Elevation angle
setting within about 1 degree to upward
or downward. Then, repeat Step 4-1 & 4-2.

. Tighten LNBf holders when all LNBf maintain

a satisfactory signal,

Page 7 of 8



